2% 29 2eg o] ghe]

224—2a>0, a <2




2. 6xy-8x-9y+12=(ax+b)(cy+d) AN a+b+c+d A4S
T-otH?

6xy —8x— 9y + 12 = 2x(3y —4) — 3(3y — 4)
— (20-3)(3y-4)
SLatbtc+d=-2




3. oA (x-a)?=b7tHE HE XS 1E2H

©)

D a<0 @ b>0 ® b<0 @)b >0

]




D (x-3)2%2=0 @ x*-4=0
® x+6x+9=0 @ (2x-1)?2=16
@ (x+6)(x-6)=9

Dx=3
@ x==+2
®x=-3

5 3
@x—g,—i
® x = +3V5




oFg ol A F 2| A4t e SR

DO x2+12x+36=0 @ x*=10x-25
@9—x2=4(x+3) @ (x+1)(x-1)=2x-2
® x?=4x-4

B

ojap g A o] & 7AW (ax + b)? = 098] &°] Hojof
gtk

@ (x+6)2=0

@ (x-5)2%=0

®9-x2=4(x+3) e x?+4x+3=0
@DxP-1=2x-20x-2x+1=0o (x-1)2=0
®((x-2)2=0




6. (2-1)2+ 1)+ 12"+ 1) 1] 5}

@® 63 @ 65 ® 127 @ 129 (3))255

(2Z2-DE+ D' +1) = 2= + 1)
=28-1
=256 — 1 = 255




D(x+2)(x 4+ 4)(x + 7) & AAA A x2 o] Aot Ao
?

flo 1

L=laee

@ -2 ® 8 @ 14 ® 28

@-10
.
(x=1D)(x+2)(x+4)(x+7)

={(x=1)(x+H(x+2)(x+4)}

= (x® + 6x—T7)(x*> + 6x + 8)

x2 0] o= &2 8x% + 36x% — 7x% = 37x2 0|t} wEhA x2 9
AL 37011, AZeHE —560] HEZ 29 A%et A5
2 37 - 56 = —19°]t}.




= Ok g b o Wﬁ}ﬂa+b=4,a2+b2=12%lﬂﬂ,g+§94%k%
Tsto]a},
> oo

> Het: 6

B ‘
(a+b)? —2ab = a® + b?
16 — 2ab = 12
ab =2
a b _a+b 12

b a ab 7:6




(x—a)>=2b, x=a+ V2b =322
ca=3, b=4

¥ —4x+3=0

(x-1)(x=3)=0
Lx=1E=x=3




